
(Anonymous)
31. [Une jeune fillette]

John Dowland (attr.)
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D-Hs:Hamburg State and University Library Ms M.B-2768:Schele lute book (1619), p. 25. Encoded and edited by Sarge Gerbode.
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1) a on 3rd course in orig.
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






















170








































































































175






  

  
  

 




































    
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    















 



   


 





 







    





















 
185 












2)





 













 















3)














 



 





















 
190 






























  
 














 




 

4)









 

  


195 


 
  

 






 








  




 
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4) Blotted out note supplied by editor.
3) c in orig.
2) a deleted from 1st course, here.
1) Note added by editor.





 



 
















 

 

200 










 




   



  
 





   







 
 

205






 



 




 
















 
  











   
 

210


    
 





    

    





 
 



   



 






  




   

215


     
 





 



   



    
  



   




 






    

 

220



  




 






  



  































 
 

  

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1)





  
 





    







  


 





  





  



  



  
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2)





 



  



     






  




   



       



   



  

235





  

  





   



 







  



 






  







 









 
  


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








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2) 1st 2 notes interchanged in orig., and next note added by editor.
1) 2 notes interchanged in orig.


